20Km

2011 3 26 10 00
)
b
1328
31 30km 2011/3/23 11:43 2011/3/25 14:14 50 312 26.2 “
2829
32 30km 2011/3/23 12:14 2011/3/25 14:29 50 15 56.3 “
1727
33 30km 2011/3/23 12:32 2011/3/25 14:43 50 11 344 “
582
34 30km 2011/3/23 13:08 2011/3/25 13:15 48 07 121 “
1386
79 30km 2011/3/23 14:09 2011/3/25 13:24 47 15 293 “
7
7 30km 2011/3/23 12:06 2011/3/25 12:33 48 27 16 “
197
71 25km 2011/3/23 13:00 2011/3/25 11:38 46 38 4.2 “
52
1 30km 2011/3/24 15:20 2011/3/25 18:02 26 42 19 “
68
15 30km 2011/3/24 10:58 2011/3/25 12:08 25 10 27 “
84 30km 2011/3/25 10:40 --- - -

b/a
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